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YABANCI DIL MiNi DENEME SINAVI

INGILIZCE

. Bu sinavda 40 soru vardir.

1

2. Bu sinav igin verilen toplam cevaplama siiresi 75 dakikadir.

3. Cevaplamaya, istediginiz sorudan baslayabilirsiniz.

4. Sayfalar lizerindeki bos yerleri miisvedde icin kullanabilirsiniz.

1. - 10. sorularda, ciimlede bos birakilan
yerlere uygun diisen sozciik ya da ifadeyi
bulunuz.

He had no idea about the real ---- of the
accident that he had when he was a child.

A) reaction B) cause
C) matter D) aim

E) entrance

The security guard warned us not to leave
our ---- items in our cars.

A) intense B) serious
C) accurate D) pure

E) valuable
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3. He was ---- accused of stealing money, but

later he could prove his innocence.
A) falsely B) adequately
C) fluently D) selfishly

E) rarely

If there is a little baby in your home, it is
advisable to keep quiet in order not to ----
his or her sleep.

A) determine B) press

C) solve D) disturb

E) forbid




5. Diana had to ---- of school at the age of

fifteen, because her family couldn’t afford
her expenses.

A) run out B) give up
C) getaway D) drop out

E) check out

6. They ---- the absence of the car in the garage

before you ---- from your trip to the South
Coast.

A) might recognize / return

) have to recognize / had returned

) may be recognized / will return

) can recognize / returned

) must be recognized / have returned

moow>

The Roman Hero Nero ---- so fond of
flavoured ice that he ---- his slaves to the
mountains to get snow.

) is/would send

) had been / should send

) used to be / ought to send
) will be / had to send

) was /used to send

mooOm>
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8. As the little child had been playing in the
mud for hours, he was covered ---- mud ----
head to foot.

A) with / between
) of/on

) in/from

) for/through

) on/around

moow>

9. There are some animals which play dead ----
defend themselves against predators.

A) so that

) because of
) inorder to
) until

) only if

moow>

10. ---- raw material ---- workforce are vital
things in industry and neither of them is
dispensable.

A) Such/that
) Both/-—--
) Other/than
) Either/or
) Both/and

moow>



11. - 15. sorularda, asagidaki pargcada
numaralanmig yerlere uygun diisen sézciik
ya da ifadeyi bulunuz.

Frostbite is an injury (11)---- is caused by staying in
the cold for a long time. The injury is caused
(12)---- the temperature is below -5 C. Any part of
the body (13)---- by frostbite. But hands, feet, nose
and ears are more vulnerable than the other parts.
There are also other factors which lead (14)----
frostbite. Time of exposure, humidity, wind, and
clothing are some of the other contributing factors.
Frostbite can be accompanied by a life-threatening
(15)---- in internal body temperature. This is also
called hypothermia.

11.

who
which
whom
when

mgozz

12.

before
when

by the time
while
although

mngozz

13.

can be affected
affects

may affect

must be affected
used to be affected

ngoze

14.

on
over
at

ngoze

for

15.

explosion
behaviour
drop
reason
source

ngoze
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16. - 18. sorularda, ciimleyi uygun sekilde
tamamlayan ifadeyi bulunuz.

16. Feudalism is a term which is used for the
political system of Europe, ----.

A) when there were feudal lords

B) and they are used mainly for the Asian
countries like Japan and China

C) which can be seen in the Indian Ocean and
Pacific Ocean

D) butit can also be used for other societies
that have the similar system

E) so the feudal lords were responsible for the
people that lived in their area

17. ---- are fast animals on the land and can bite
you.

A) Centipedes that look similar to millipedes

B) Not only most of the centipedes are
poisonous animals

C) Snakes are more dangerous than
centipedes

D) A centipede that might have 15 to 170 pairs
of feet

E) Dolphins, which are among the friendly
animals of the animal kingdom

18. Certain phobias affect some people so much

A) after they learn to live with their phobias

B) that they think experiencing their phobia is
worse than death

C) the fear is irrational and talk therapy doesn’t
work

D) that have to be taken seriously especially in
children

E) they try to keep away from them as much
as possible



19 - 21. sorulari, agagidaki pargaya gore
cevaplayiniz.

Imagine a computer that has emotions like human
beings. This could be real in the future because
scientists are getting closer to new class of
computers which can feel "sorry" for their mistakes.
They are trying to develop programmes which will
make computers realize their mistakes. And also
these computers will be able to predict events
before they happen. Therefore, they will not make
the same mistake again in the future, and they will
run more efficiently. Scientists say it is just the first
step in creating intelligent computers and people
shouldn’t expect the artificial intelligence which is
shown in science fiction films.

19. It is pointed out in the passage that in the
future computers will ----.

A) be used to make weather forecast

B) not make any mistakes

C) apologize if they make a mistake

D) realize all human beings’ mistakes

E) probably be able to regret their mistakes

like we do

20. The writer of the passage makes the point
that -—.

A) computers will not need programmes to
operate in the future

B) if we develop better programmes,
computers will never make mistakes

C) the computers being developed these days
are far behind the artificial intelligence in
films

D) new computers will feel anything artificial

E) artificial intelligence will be achieved in a
short time

21. We can understand from the passage that
the current research ----.

A) is only a starting point for artificial
intelligence studies
B) was inspired from the science fiction films
)

C) does not have anything to do with artificial
intelligence

D) can be carried out only with intelligent
computers

E) will not be successful
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22 - 24. sorulari, agagidaki pargaya gore
cevaplayiniz.

Awareness has increased in recent years, but many
children are still not diagnosed with autism until they
are four. Detecting autism early is important
because it can help the child overcome most
negative effects. Getting therapy early can change
the course of autism because the child’s brain
development is most open to learning during this
time. There is no medical test to diagnose autism.
Instead, it is done by observing a child’s behaviour.
Researchers have been studying the earliest signs
of autism so that doctors can know more about the
disease. By watching the home videotapes of young
children with autism, some early symptoms have
become clear. And also, the younger siblings of
children with autism are at increased risk (6 to 9%)
of developing autism.

22. As it is mentioned in the passage in order to
diagnose autism ----.

A) doctors or experts have to watch the child’s
behaviours

B) doctors apply a medical test

C) the child has to be kept under a doctor’s
control for years

D) infancy videotapes of the child have to be
watched

E) children shouldn’t be allowed to be with
autistic children

23. It is obvious from the passage that children
who have an elder brother or sister with
autism ----.

>

) are likely to be more clever than other
children

) have a low risk of suffering from autism

) should be treated after they are four

) shouldn’t grow up in the same house

) have more risk of having autism than other
children

mooOw

24. We learn from the passage that ----.

A) autism is exaggerated by the doctors

B) many autism cases are noticed later than
they should be

C) autism can be diagnosed in children under
four more easily

D) if autism is noticed earlier it can be treated
completely

E) autistic children’s brains are larger




25. - 26. sorularda, karsilikli konugmanin bos
birakilan kismini tamamlayabilecek ifadeyi
bulunuz.

27. - 28. sorularda, verilen ciimleye anlamca
en yakin ciimleyi bulunuz.

27. Petroleum might lose its importance if

25. Jane: electric or solar-powered cars become

- You never seem to listen to me. You are
always busy with your new phone.

Paul:
- Sorry, but it has got very interesting
features. | can show you.

Jane:

Paul:
- Ok. | will not insist.

>

) No, | don’t want to see them. | am not
interested.

B) Really? Let me see them.
C) | want to buy a new mobile phone, too.
D) Will you also teach me how to use them?
E) | heard it has got so many new features
other phones don’t have.
26. Daisy:

- What can we do with all these clothes that
we don’t use?

Daisy:
- Do you know one that is around here?

Wilma:
- No, but | know somebody who works at
one of them. We can give them to him.

A) We should buy a new wardrobe. This one is
not enough.

B) | recommend you the one that is on the
corner of our street. Prices are good.

C) You could give it to one of your relatives
who can use them.

D) Why don’t you give them to a second- hand
store?

E) They take up too much place in the house.
Just throw them away.
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widespread.

A) If solar-powered or electric cars aren’t used
commonly, people may go on depending on
petroleum.

B) When the electric or solar-powered cars are
used less, dependence on petroleum could
become less, too.

C) Petroleum will become unnecessary if
people commonly start to use electric or
solar-powered cars.

D) Electric or solar-powered cars will make the
petroleum out of date very soon.

E) When cars that work with electricity or solar
power are common, petroleum may not be
so essential anymore.

28. While ruling different nations, Ottomans

were the most tolerant to minorities.

A) No other country was as tolerant to
minorities as the Ottomans during their
reign of various nations.

B) Ottomans always had good relations with
the minorities when they were living with
them.

C) Ottomans had no patience for the minorities
when they were ruling them.

D) When they were reigning many nations, the
Ottoman Empire was more tolerant than the
minorities.

E) The most tolerant of all nations in the world
were the Ottomans because they were
ruling different nations.



29. - 30. sorularda, verilen duruma uygun 31. - 32. sorularda, bos birakilan yere,
diisen ciimleyi bulunuz. pargada anlam biitiinliigi saglamak igin
getirilebilecek ciimleyi bulunuz.

29. You are walking to your hotel at a tourist

destination. At that time somebody stops 31. The Earth orbits around the Sun. It takes

you and asks you the nearest bus station. one year to go around the Sun one complete
You also don’t know the area well, so you time. -—- It takes one day to do this one

state this and recommend a better way of complete time.
learning it: ----

A) ltis 149.6 million kilometres away from the

A) You had better follow me not to be lost in Sun.

this big city.

: ) , B) The Earth also rotates, or spins, on its axis.
B) Sorry, I can't help you. Do you think you'll C) The Earth has two different kinds of motion.
be able to find it yourself? D) That half has day the other half is dark and

C) I'm also a stranger here. Why don’t you ask has a night.
the waiter in that café? E) After every 4 years, however, the earth has

D) I'min a hurry. You should ask it to the taxi
drivers there.
E) I'msorry. | don’t know the area well, either.

made one extra rotation.
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30. You go to a book fair. You wish to have a 32. In general, humanoid robots have a body
famous writer’s autograph. But at the fair with a head, two arms and two legs. Some
you see nobody famous. There are only the may also have a face, with eyes and a
booksellers around. You regret going there, mouth. They could be built to resemble a
and you say to yourself ironically: ---- male or a female. ---- And the others are
called Gynoids.
A) [wish | hadn’t come here; they haven't
even heard of me. A) It resembles a giant walking machine which
B) Why didn’t | go to a football match instead? has no brain.
At least | could see some famous people B) As they talk with the help of a programme,
there. they don’t use their mouth.
C) Being a writer is a really easy job. You C) They have beautiful eyelashes if they are
needn’t go to an office to work. females.
D) They really work hard and they also need to D) Depending on the model, they may have
have some rest. different functions.
E) | had better buy some books for the E) The ones that resemble males are known
summer holiday. as Androids.



33 - 35. soruda, verilen ingilizce ciimleye
anlamca en yakin Tiirkge ciimleyi bulunuz.

33. The company was using the technology so
effectively that even the meetings were done
by video conferences.

A)

B)

Sirket teknolojiyi o kadar etkin bir sekilde
kullaniyordu ki, toplantilar bile video
konferanslarla yapiliyordu.

Teknolojiyi etkin bir bicimde kullanan sirket,
toplantilari bile video konferanslarla
yapiyordu.

Sirket teknolojiden o kadar verimli bir
sekilde yararlaniyordu ki, toplantilarda bile
video konferanslar yapiliyordu.

Sirket teknolojiden etkin bir sekilde
yararlaniyordu ve toplantilar bile video
konferanslarla yapiliyordu.

Sirket teknolojiyi gok etkin bir bigcimde
kullandig1 i¢in toplantilar video konferans
yéntemiyle yapiliyordu.

34. Spending long hours in front of the
computer or always leaning forward might
cause a pain in your neck.

A)

B)

Bilgisayar 6niinde uzun zaman gegirmek
veya daima 6ne dogru egilmek boynunuzun
agrimasina neden olabilir.

Bilgisayar 6nuinde uzun saatler gegirmek ya
da hep 6ne dogru egilmek boynunuzda
agriya neden olabilir.

Bilgisayar 6niinde gegirilen uzun saatlerin
veya her zaman 6éne dogru egilmenin
sonucu boynunuzda bir agri olabilir.
Boynunuzdaki agrinin nedeni, bilgisayar
ondnde uzun saatler gegirmek ya da her
zaman 6ne dogru egilmek olabilir.

Eger bilgisayar 6nlinde uzun saatler
gegciriyorsaniz ya da her zaman 6ne dogru
egiliyorsaniz boynunuzda agri olabilir.
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35. Although its cast is comprised of unknown
actors, the film was very successful at the
box office.

Gisede ¢ok basaril olan bu filmde,
taninmamis kisilerden olusan bir oyuncu
kadrosu bulunuyordu.

Gisede ¢ok basarili olan bu filmin oyuncu
kadrosu taninmamisg kisilerden olusuyordu.
Oyuncu kadrosu taninmamis kisilerden
olussa da, film gisede ¢ok basaril oldu.
Oyuncu kadrosu taninmamis kisilerden
olussa da, film gisede ¢ok blylk basari
elde etti.

Oyuncu kadrosu taninmamis kisilerden
olusuyordu fakat film, gisede g¢ok basarih
oldu.

36 - 38. soruda, ve_rilen Tiirkce climleye
anlamca en yakin Ingilizce climleyi bulunuz.

36. Sekiz yasinda yazmaya baslayan Elif Safak,
sekizi roman olan on iki kitap yazdi.

A)

B)

Elif Safak began writing at the age of eight,
and she has written twelve books, eight of
which are novels.

Elif Safak began writing at the age of eight
and she is the author of twelve books, eight
of which are novels.

Elif Safak, who has written eight novels and
twelve other books, began writing at the
age of eight.

Elif Safak, who began writing at the age of
eight, has written twelve books, eight of
which are novels.

Elif Safak who has eight novels out of
twelve books, began writing at the age of
eight.




37. insanoglu geligsmis teknolojik aletlerle
evrenin sadece kiigiik bir boliimini
izleyebiliyor.

39. - 40. sorularda, ciimleler sirasiyla
okundugunda parganin anlam bitiinliigiini
bozan ciimleyi bulunuz.

A) Only a small part of the universe can be

watched although humankind has 39. (I) Honey bee populations are decreasing in the
developed technological devices. U.S. (I) About 30 per cent of the bee colonies
B) Humankind can watch only some part of have died recently. (lll) This has certainly
the universe despite all the advanced affected and will go on affecting the honey
technological devices. production. (IV) Most agricultural crops and
C) Only a small part of the universe can be trees are reliant on bees for pollination.
watched by humankind even with the (V) However, the worst effects of it can be seen
advanced technological devices. on agriculture.
D) Using the advanced technological devices,
humankind is able to watch only a small A)l B) Il c)m D) IV E)V

part of our universe.

E) Humankind is able to watch only a small
part of the universe with the advanced
technological devices.
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38. Bazi insanlara gore, kabul edilebilir tek 40. (1) Radio telescopes are a type of radio
mizah tiirii tehlikeli olandir. antenna. (II) Hans Lippershey was the person
who invented the telescope. (lll) They can be
A) According to some people, the only used singularly or in an array. (IV) They collect
acceptable humour type is the dangerous data from satellites and space probes. (V) They
one. are usually placed away from centres of
B) There are some people who say that the population to avoid electromagnetic interference
only acceptable humour type is the from devices like radar, TV and radio.
dangerous one.
C) The only acceptable type of humour is the Al B) Il cym D) IV E)V
dangerous one, as some people say.
D) Some people say that the only acceptable
type of humour is the dangerous one.
E) According to some people, in order for it to
be an acceptable type of humour, it must
be dangerous.




